
AP	Statistics	Review	Quiz	on	6/7	 	 	 Name________________________________	Pd	_______	
	
1.		In	the	Japanese	game	show	Sushi	Roulette,	the	contestant	spins	a	large	wheel	that’s	divided	into	12	
equal	sections.		Nine	of	the	sections	have	a	sushi	roll	and	three	have	a	wasabi	bomb.		When	the	wheel	
stops,	the	contestant	must	eat	whatever	food	is	on	the	section.		To	win	the	game,	the	contestant	must	eat	
one	wasabi	bomb.		Find	the	probability	that	it	takes	3	or	more	spins	for	the	contestant	to	get	a	wasabi	
bomb.			
	
	
	
While	he	was	a	prisoner	of	war	during	World	War	II,	John	Kerrich	tossed	a	coin	10,000	times.		He	got	
5067	heads.		If	the	coin	is	perfectly	balanced,	the	probability	of	a	head	is	0.5.	
	
2.		Find	the	mean	number	of	heads	in	10,000	tosses.	
	
	
3.		Find	the	standard	deviation	of	heads	in	10,000	tosses.	
	
	
4.		What	is	the	probability	that	a	fair	coin	results	in	at	least	as	far	away	from	0.5	as	John	Kerrich’s	coin	(in	
either	direction)?	
	
	
5.		If	John	flipped	the	coin	until	a	head	appeared,	then	what	is	the	probability	that	5	flips	are	required?	
	
	
6.		Which	of	the	following	random	variables	is	geometric?	

a. The	number	of	time	I	have	to	roll	a	die	to	get	two	6s.	
b. The	number	of	cards	I	deal	from	a	well-shuffled	deck	of	52	cards	until	I	get	a	heart.	
c. The	number	of	digits	I	read	in	a	randomly	selected	row	of	random	digits	table	until	I	find	a	7.	
d. The	number	of	7s	in	a	row	of	40	random	digits	
e. The	number	of	6s	I	get	if	I	roll	a	die	10	times	

	
	
	
7.		Seventeen	people	have	been	exposed	to	a	particular	disease.		Each	one	independently	has	a	40%	
chance	of	contracting	the	disease.		A	hospital	has	the	capacity	to	handle	10	cases	of	the	disease.		What	is	
the	probability	that	the	hospital’s	capacity	will	be	exceeded?	
	
	 A.		0.011	 	 B.		0.035	 	 C.		0.092	 	 D.		0.965	 	 E.		0.989	
	
	
8.		A	test	for	extrasensory	perception	(ESP)	involves	asking	a	person	to	tell	which	of	5	shapes	(circle,	star,	
triangle,	diamond,	or	heart)	appears	on	a	hidden	computer	screen.		On	each	trial,	the	computer	is	equally	
likely	to	sel	t	any	of	the	5	shapes.		Suppose	researchers	are	testing	a	person	who	does	not	have	ESP	and	so	
is	just	guessing	on	each	trial.		What	is	the	probability	that	the	person	guesses	the	first	4	shapes	
incorrectly	but	gets	the	fifth	correct?	
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9-12.		According	to	the	Census	Bureau,	13%	of	American	adults	are	Hispanic.		An	opinion	poll	plans	to	
contact	an	SRS	of	1200	adults.	
	
9.		What	is	the	mean	number	of	Hispanics	in	such	a	survey?	
	
	
10.		What	is	the	standard	deviation	of	the	number	of	Hispanics	in	such	a	survey?	
	
	
11.		What	is	the	probability	that	15%	or	more	of	the	respondents	are	Hispanic?	
	
	
12.		A	volunteer	caller	plans	to	call	Americans	until	he	has	surveyed	a	person	who	is	Hispanic?		What	is	
the	probability	that	this	will	require	exactly	4	calls?	
	
	
	
Normal	Distribution	Review	–	Researchers	in	Norway	analyzed	data	on	the	birth	weights	of	400,000	
newborns	over	a	6-year	period.		The	distribution	of	birth	weights	is	Normal	with	a	mean	of	3668	grams	
and	a	standard	deviation	of	511	grams.	
	
13.		What	is	the	probability	of	a	baby	weighing	over	4000	grams?	
	
	
14.		What	is	the	z-value	for	a	baby	that	weighs	3750?	
	
	
15.		85%	of	babies	weight	more	than	x	grams.		Find	x	rounded	to	the	nearest	pound.	
	
	
16.		What	is	the	probability	that	a	baby	weighs	between	3000	and	4000	pounds?	
	
	
17.		Find	the	interquartile	range	for	baby	weight.	
	
18.		68%	of	babies	will	weigh	between:	
	
19.		95%	of	babies	will	weigh	between:	
	
20.		99%	of	babies	will	weigh	between:	
	
___________________________________________Answers_____________________________________________________________	

1.		0.5625	 2.		5000	 3.		50	 	 4.		Ans	=	.1802	for	both	sides	(.0901	is	only	for	one	side)		

5.		0.03125	 6.		C	 	 7.		B	 	 8.		C	 	 9.		156		 	 10.		11.65	

11.		15%	of	1200	=	180		and	prob	=	.02	 	 	 12.		.87^3	•	.13	=	.0856	

13.		.26	 14.		0.16	 15.		3138	grams	 	 16.		.65	 	 	

17.		Q1	=	3323,	Q3	=	4013,	IQR	=	690	grams	 	 18.		3668	±	511	=	3157	and	4179	

19.		3668	±	2•511	=	2646	and	4690	 	 	 20		3668	±	3•511	=	2135	and	5201	
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